
Leg assembly kit: 

1 Bottom brace 
1 Back brace 
2 Legs 
1 Drawer 
14 1/4" X 3/4" bolt 
2 Bottom brace retainer 
2 Leg retainer 
4 Glide 
6 # 6 X 1/2" screws 
4 5/16” X 1” lug screws 

  
  
 Place the table top on a work bench or 
 convenient work station with the bottom side 
up. 

 
  

X    X 

X 

Page 1 



This is the right leg kit the next set is the left leg kit. 
 

 
 
Mount the retainer to the leg. 
 

 
  

Page 2 



Secure the upper leg with the retainer and 1/4” X 3/4" bolts. 

 
 
 
Mount the back brace on the two holes on the back of the leg. 

 
 
  

Page 3 



 
 
 
  
 
 
Mount the bottom brace retainer in the underside of the leg as shown.  

Page 4 



Position and secure the brace with the 1/4” X 3/4" bolt. 
 

 
 
 
 
Position the assembled stand on the underside of the table. Use the 5/16” X 1” lug screws. 

 
  

Page 5 



Position of the right side is 2 3/4“. 

 
 
 
 
 
Position of the front is 4”. 

 
  

Page 6 



Drawer with slides attached. 

 
 
 
 
 
 
Use #6X1/2” wood screws to mount the drawer/ 
 

  

Page 7 



 

Page 8 


